Caleulus 1 Name
Review - Implicit Di ted Rates (2) Bloc Date

¢ equation of the tangent L€ at t int. Bx‘y -6y = 18xy (31)
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2) Find the derivative of 4x + 3x°y* = 30.
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2) Find the derivative of 4x + 3x%y* = 30. 3) Find the derivative of
4sin(3x°y)+Bxy -7y = 35.
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4) A right triangle has legs with lengths of 2.7ft and 3.6ft. The longer leg is increasing at
a rate 7ft/min and the shorter side is increasing at a rate of 6.5 ft/min. How fast is the
hypotenuse changing at this instant? How fast is the angle between the shorter side and

the hypotenuse changing? 2 3.(.94. D. 32 ?
6) Xa ry 2 .2 LKL,

by J r b
aX dt-l'lrj{_.:)r%;

230 742:2.2:45: 9454
- EHenin ) ™5
Jt ” qs /o %ﬂ:%‘% |




5) Sand is being poured at a rate of 7.6 cubic centimeters per second and is forming an
conical pile. The height of the pile is always a third of the radius. Determine how fast the

height is changing at the instant the height is 5 cm. Determine the rate of chapge of the
radius at that same instant. i . i r’
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6) A perfect cube has side length of 14 in and the sides are decreasing at a rate of Sin
per second. What is the rate of change of the volume of this cube? What is the rate of

change of the surface area?
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